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FAROOK COLLEGE (AUTONOMOUS), KOZHIKODE
First Semester MCOM Degree Examination, November 2022
MCMI1C01 — Business Environment & Policy
(2022 Admission onwards)

Time: 3 hours Max. Weightage : 30
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SECTION A
Answer any four questions. Each question carries 2 weightage.

. What is KYOTO Protocol?

Define ‘Foreign Direct Investment.’

Mention the objectives of NITI Ayog.

Establish the relationship between Globalisation and Global Warming.
Compare GATT and WTO.

State the salient features of the New Economic Policy, 1991.

Mention the demographic factors which have a significant impact on business.

(4x2 = 8 weights)

SECTION B

Answer any four questions. Each question carries 3 weightage.
What were the major recommendations from the Madhav Gadgil Committee Report.
“Profit motive and social responsibility must be complementary to each other.”
Comment with examples.
“Modern Technology is an unmixed blessing.” How does this phrase fit in explaining
the role of Technology in Society?
Cite the factors stimulating the growth of Start-Ups in India.
Evaluate the different Government schemes to curb Unemployment issues in India.
Summarise the different unethical business practices encountered by consumers in
[ndia.
Highlight the recent innovations in the Indian Business Environment with examples.

' (4 x 3 = 12 weights)



SECTIONC
Answer any two questions
15. Is Foreign Capital essential for the economic development of a country? Examine the
pros and cons of FDI in Indian Retail sector.
16. “Clean Environment and economic development are inconsistent.” Elaborate on
different reasons for climate change. Also, trace the role of MNCs towards promoting
a ‘Greener tomorrow.’
17. Examine the benefits and limitations of Privatisation of different sectors in India.
18. Describe the different dimensions of analysing the Indian Business Environment.
(2 x 5= 10 weights)
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FAROOK COLLEGE (AUTONOMOUS), KOZHIKODE
First Semester MCOM Degree Examination, November 2022
MCM1C02 - Corporate governance
(2022 Admission onwards)
3 hours Max. Weightage : 30
SECTION A

Answer any four questions. Each question carries 2 weightage
What is equity sharing?
What is green governance?
What is ‘Chaebols’?
What is shareholder activism?
What is Sarbanes-Oxley Act?
What is secretarial audit?
What is an audit committee?

(4 x 2 = 8 weights)
SECTION B

Answer any four questions. Each question carries 3 weightage.
Explain the principles of corporate governance
Briefly explain stewardship theory?
Explain the provisions of companies act 2013 regarding board meeting
What are the different types of whistle blowing?
Discuss the important recommendations of Cadbury committee.
Discuss financial reporting of the activities of the company as per claus:e 49.
Explain the major functions of NCLT.

(4 x 3 =12 weights)

SECTION C
Answer any two questions. Each question carries 5 weightage.

Discuss the regulatory framework of corporate governance in India

What are the strategies for SRI _
Discuss theories and models of corporate governance.‘
Discuss various committees appointed in India with its recommendations for ensuring good
Corporate governance in Indian corporations.

§ (2 x 5 =10 weights)
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FAROOK COLLEGE (AUTONOMOUS), KOZHIKODE
First Semester MCOM Degree Examination, November 2022
MCM1C03 — Quantitative Techniques for Business Decisions

(2022 Admission onwards)

Time: 3 hours Max. Weightage : 30

10.

11.
12.

13.

SECTION A
Answer any four questions. Each question carries 2 Weightage

. Explain random variable.

What do you mean by quadratic function?
Explain standard error.

What is meant by sign test?

Find [x’dx

Explain integration.

Differentiate x* + x* .

(4x2 = 8 weights)

SECTION B
Answer any four questions. Each question carries 3 weightage

Ify = (2x° = 5x* + 7x + 1)*, find %.

Explain the term constraint.

What should be the size of the sample from a set of 2000 accounts if the standard
deviation of default as per past experience was 2.6 when a 95% confidence is required
and sample mean should not differ by more than half from the population mean.
Explain continuity of function.

Find all the points of local maxima and minima of the function
f(x)=x"-3x*-9x+15.
Data on the value of imports (In Million Pounds) of selected agritultural production

inputs from Britan to India during the last 12 years are as follows.
5.2,5.5,3.8,2.5,8.3,2.1, 1.7, 10.0, 10.0, 6.9, 7.5 and 10.6

Comment whether the sequence is random.
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FAROOK COLLEGE (AUTONOMOUS), KOZHIKODE
First Semester MCOM Degree Examination, November 2022
MCM1C04 — Management Theory and Organizational Behaviour
(2022 Admission onwards)

Time: 3 hours Max. Weightage : 30
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SECTION A
Answer any four questions. Each question carries 2 weightage

What do you mean by core competence?
Discuss the concept of perceptual interpretation?
How does motivation affect behaviour?

What is inter organization conflict?

Compare and contrast transactional leadership vs transformational leadership?

Distinguish between individual and organizational power?
Write a note on quality circle?
(4 x 2 = 8 weights)

SECTION B
Answer any four questions. Each question carries 3 weightage

What do you mean by benchmarking?Explain the different types of benchmarking?
How does selectivity affect perception?Give an example of how selectivity can create
perceptual distortion?

What do you understand by group development? In your view what are the stages in
group development

How will you determine the personality of a person? Also explain the personality traits
that have relevance from the point of view of organisational behaviou-r?

” Organisational behaviour represent interaction among individual groups and the
organisation.” Elucidate this statement

Discuss the various types of conflict in an organization

Explain three ego states and various type of transaction between two persons with the
help of suitable diagrams

(4 x 3= 12 weights)



15.

16.
1P

18.

SECTIONC
Answer any two questions

Define organisational behaviour? Discuss the various challenges and opportunities for
organisational behaviour.?

Explain various approaches of organisational change.

“ Leadership is situational” in the light of this statement discuss the various theories of
leadership in brief

Define learning. Discuss the major theories of learning

(2 x 5= 10 weights)
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FAROOK COLLEGE (AUTONOMOUS), KOZHIKODE
First Semester MCOM Degree Examination, November 2022
MCMI1CO05 — Advanced Management Accounting
(2022 Admission onwards)
Time: 3 hours Max. Weightage : 30
SECTION A
Answer any four questions. Each question carries two weightage
1. Define TQM.
What are control ratios? Explain important control ratios.

Distinguish between the current standard and the basic standard.

B

X Ltd. presented the following information. You are asked to compute the variable

overﬁead variance: |

Budgeted Variable Overhead - Rs. 50,000, Budgeted production for the year2,500

units, Actual Variable OverheadRs. 46,500, Actual production2,300 units.

5. Define social cost-benefit analysis. What are its features? Discuss its need and

* importance.

6. Define EVA. What are the superiority features of EVA? What are its limitations?

7. What do you understand by Balance Score Card? Identify and examine its
components. (4 x 2 = 8 weightage)

SECTION B
Answer any four questions. Each question carries three weightage

8. A company which is producing different brands of toilet soaps is considering reducing
the price of one of its brands as it is possible to reduce cost if volume could be
increased. What are the special points to be considered before effecting a reduction in
price? = .

9. Explain the role of Management Accountant in modern business.

10. Discuss the important KPI’s for human resources.

11. X Ltd. has estimated its overhead for 2022 at Rs. 48,000 and the company runs for

300 days in a year @ 8 hours a days. The Budget is 24,000 articles. The company

gives you the actual data for the month of April 2022.

Output 2,100 units

Actual Overhead Rs. 4,250 B

Idle Time 4 hours

Calculate: (a) Overhead Cost Variance; (b) Overhead Budgeted Variance:

(c¢) Overhead Efficiency Variance and (d) Idle Time Variance.

}
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12. The Asian Industries specialise in the manufacture of small capacity motors. The cost
structure of a motor is as under:
Material Rs. 50
Labour Rs. 80
Variable overheads  75% of labour cost
Fixed overheads of the company amount to Rs. 2.40 lakhs per annum. The sale price
of the motor is Rs. 230 each.
(a) Determine the number of motors to be sold in a year in order to break-even.
(b) How many motors are to be made and sold to make a profit of Rs. 1 lakh per year?
(¢) If the sale price is reduced by Rs. 15 each, how many motors are to be sold to
break- even?

13. Nuksan Ltd. which makes only one product, sells 10,000 units of its product making a
loss of Rs. 10,000. The variable cost per unit of the product is Rs.8 and the fixed cost

is Rs. 30,000. The company has estimated its sale demand as under:

Sale Units Probability
10,000 0.10
12,000 | 0.15
14,000 0.20
16,000 0.30
18,000 0.25

a. What is the probability that the company will continue to make losses?
b. What is the probability that the company will make a profit of at least Rs.6,000?

14. Z ltd is considering Projects X and Y with following information

Project Expected NPV Standard deviation
X 2,00,000 1,20.000
¥ 3,00,000 1,50,000

a. Which project will you recommend based on the above data?
b. Explain whether your opinion will change. if you use coefficient of variance

as a measure of risk. (4 x 3 =12 weightage)



12.

13.

The Asian Industries specialise in the manufacture of small capacity motors. The cost
structure of a motor is as under:

Material Rs. 30

Labour Rs. 80

L

Variable overheads  75% of labour cost

Fixed overheads of the company amount to Rs. 2.40 lakhs per annum. The sale price
of the motor is Rs. 230 each.

(a) Determine the number of motors to be sold in a year in order to break-even.

(b) How many motors are to be made and sold to make a profit of Rs. 1 lakh per year?
(c) If the sale price is reduced by Rs. 15 each, how many motors are to be sold to
break- even?

Nuksan Ltd. which makes only one product, sells 10,000 units of its product making a
loss of Rs. 10,000. The variable cost per unit of the product is Rs.8 and the fixed cost

is Rs. 30,000. The company has estimated its sale demand as under:

Sale Units Probability
10,000 0.10
12,000 0.15
14,000 0.20
16,000 0.30
18,000 0.25

a. What is the probability that the company will continue to make losses?

b. What is the probability that the company will make a profit of at least Rs.6,000?

14. Z Itd is considering Projects X and Y with following information

Project Expected NPV Standard deviation
X 2,00,000 1,20,000
Y 3,00,000 1,50,000

a. Which project will you recommend based on the above data?
b. Explain whether your opinion will change, if you use coefficient of variance

as a measure of risk. (4 x 3 =12 weightage)




